BID TABULATION 63-27SEP07 MOREAU ROAD LOW WATER CROSSING PROJECT

				Hard Rock Concrete		Concrete Engineering		Southern Ditching	
Item	Description	Qty	Unit	Unit Price	Extended Total	Unit Price	Extended Total	Unit Price	Extended Total
1-1.	Mobilization	1	LS	\$1,000.00	\$1,000.00	\$3,000.00	\$3,000.00	\$3,320.45	\$3,320.45
1-2.	Traffic Control	1	LS	\$1,600.00	\$1,600.00	\$1,000.00	\$1,000.00	\$1,500.00	\$1,500.00
1-3.	Removals	1	LS	\$1,000.00	\$1,000.00	\$2,000.00	\$2,000.00	\$4,210.00	\$4,210.00
1-4.	Excavation	77	CY	\$96.10	\$7,400.00	\$30.00	\$2,310.00	\$35.10	\$2,702.70
1-5.	Embankment	30	CY	\$53.33	\$1,600.00	\$40.00	\$1,200.00	\$50.10	\$1,503.00
1-6.	1.5" Minus Base Rock	100	TON	\$20.00	\$2,000.00	\$19.00	\$1,900.00	\$50.70	\$5,070.00
1-7.	Class A Portland Cement Concrete	75	CY	\$427.71	\$32,078.00	\$314.00	\$23,550.00	\$225.00	\$16,875.00
1-8.	Type 1 Rolled Stone Base Rock	45	TON	\$20.00	\$900.00	\$50.00	\$2,250.00	\$37.45	\$1,685.25
1-9.	Tensar BX 1100 Geogrid	277	SY	\$3.97	\$1,100.00	\$5.00	\$1,385.00	\$5.30	\$1,468.10
1-10.	Reinforcing Steel (including tie bars)	1500	LBS	\$2.00	\$3,000.00	\$2.00	\$3,000.00	\$3.55	\$5,325.00
1-11.	Type 2 Rock Blanket (24" deep)	71	CY	\$6.14	\$436.00	\$50.00	\$3,550.00	\$41.00	\$2,911.00
1-12.	Field Seeding/Fertilizing/Mulching	1	LS	\$1,200.00	\$1,200.00	\$2,000.00	\$2,000.00	\$4,000.00	\$4,000.00
1-13.	24" Polycoated CMPs 16 gauge	90	LF	\$40.56	\$3,650.00	\$50.00	\$4,500.00	\$60.00	\$5,400.00
1-14.	Temporary Bypass	1	LS	\$4,500.00	\$4,500.00	\$6,600.00	\$6,600.00	\$8,552.00	\$8,552.00
1-15.	Construction Staking	1	LS	\$2,500.00	\$2,500.00	\$1,500.00	\$1,500.00	\$3,500.00	\$3,500.00
1-16.	Rock Excavation	1	CY	\$500.00	\$500.00	\$300.00	\$300.00	\$700.00	\$700.00
1-17.	Geotex 315ST	277	SY	\$1.57	\$436.00	\$3.00	\$831.00	\$4.50	\$1,246.50
	BID TOTAL				\$64,900.00		\$60,876.00		\$69,969.00
	Bidder's Acknowledgment?				Included		Included		Included
	Statement of Bidder's Qualifications?				Included		Included		Included
	Addendum Acknowledgment?				Included		Included		Included
	Anti-Collusion Statement?				Included		Included		Included
	Signature & Identity of Bidder?				Included		Included		Included
	Bid Bond?				Included		Included		Included

BID TABULATION (continued) 63-27SEP07 MOREAU ROAD LOW WATER CROSSING PROJECT

				Mike Hern Construction		Stockman Construction		Lehman Construction	
Item	Description	Qty	Unit	Unit Price	Extended Total	Unit Price	Extended Total	Unit Price	Extended Total
1-1.	Mobilization	1	LS	\$2,000.00	\$2,000.00	\$8,320.00	\$8,320.00	\$5,000.00	\$5,000.00
1-2.	Traffic Control	1	LS	\$1,250.00	\$1,250.00	\$5,800.00	\$5,800.00	\$500.00	\$500.00
1-3.	Removals	1	LS	\$3,250.00	\$3,250.00	\$15,000.00	\$15,000.00	\$3,000.00	\$3,000.00
1-4.	Excavation	77	CY	\$15.00	\$1,155.00	\$45.00	\$3,465.00	\$12.00	\$924.00
1-5.	Embankment	30	CY	\$15.00	\$450.00	\$36.00	\$1,080.00	\$20.00	\$600.00
1-6.	1.5" Minus Base Rock	100	TON	\$18.50	\$1,850.00	\$21.50	\$2,150.00	\$20.00	\$2,000.00
1-7.	Class A Portland Cement Concrete	75	CY	\$287.00	\$21,525.00	\$248.00	\$18,600.00	\$400.00	\$30,000.00
1-8.	Type 1 Rolled Stone Base Rock	45	TON	\$20.00	\$900.00	\$23.42	\$1,053.90	\$20.00	\$900.00
1-9.	Tensar BX 1100 Geogrid	277	SY	\$4.00	\$1,108.00	\$5.62	\$1,556.74	\$4.00	\$1,108.00
1-10.	Reinforcing Steel (including tie bars)	1500	LBS	\$1.50	\$2,250.00	\$2.40	\$3,600.00	\$1.00	\$1,500.00
1-11.	Type 2 Rock Blanket (24" deep)	71	CY	\$31.00	\$2,201.00	\$41.00	\$2,911.00	\$40.00	\$2,840.00
1-12.	Field Seeding/Fertilizing/Mulching	1	LS	\$1,500.00	\$1,500.00	\$2,500.00	\$2,500.00	\$1,200.00	\$1,200.00
1-13.	24" Polycoated CMPs 16 gauge	90	LF	\$41.40	\$3,726.00	\$40.47	\$3,642.30	\$70.00	\$6,300.00
1-14.	Temporary Bypass	1	LS	\$5,000.00	\$5,000.00	\$12,000.00	\$12,000.00	\$5,000.00	\$5,000.00
1-15.	Construction Staking	1	LS	\$1,450.00	\$1,450.00	\$5,200.00	\$5,200.00	\$500.00	\$500.00
1-16.	Rock Excavation	1	CY	\$200.00	\$200.00	\$200.00	\$200.00	\$500.00	\$500.00
1-17.	Geotex 315ST	277	SY	\$3.00	\$831.00	\$2.98	\$825.46	\$3.00	\$831.00
	BID TOTAL				\$50,646.00		\$87,904.40		\$62,703.00
	Bidder's Acknowledgment?				Included		Included		Included
	Statement of Bidder's Qualifications?				Included		Included		Included
	Addendum Acknowledgment?				Included		Included		Included
	Anti-Collusion Statement?				Included		Included		Included
	Signature & Identity of Bidder?				Included		Included		Included
	Bid Bond?				Included		Included		Included

BID TABULATION (continued) 63-27SEP07 MOREAU ROAD LOW WATER CROSSING PROJECT

				Jeff Schnieders		C.L. Richardson		Emery Sapp & Sons	
Item	Description	Qty	Unit	Unit Price	Extended Total	Unit Price	Extended Total	Unit Price	Extended Total
1-1.	Mobilization	1	LS	\$3,094.00	\$3,094.00	\$3,000.00	\$3,000.00	\$4,348.83	\$4,348.83
1-2.	Traffic Control	1	LS	\$1,600.00	\$1,600.00	\$1,400.00	\$1,400.00	\$1,159.68	\$1,159.68
1-3.	Removals	1	LS	\$3,400.00	\$3,400.00	\$3,400.00	\$3,400.00	\$7,675.46	\$7,675.46
1-4.	Excavation	77	CY	\$93.00	\$7,161.00	\$35.00	\$2,695.00	\$16.16	\$1,244.32
1-5.	Embankment	30	CY	\$25.00	\$750.00	\$45.00	\$1,350.00	\$30.26	\$907.80
1-6.	1.5" Minus Base Rock	100	TON	\$23.00	\$2,300.00	\$21.00	\$2,100.00	\$15.05	\$1,505.00
1-7.	Class A Portland Cement Concrete	75	CY	\$314.00	\$23,550.00	\$320.00	\$24,000.00	\$398.77	\$29,907.75
1-8.	Type 1 Rolled Stone Base Rock	45	TON	\$24.00	\$1,080.00	\$35.00	\$1,575.00	\$56.85	\$2,558.25
1-9.	Tensar BX 1100 Geogrid	277	SY	\$5.00	\$1,385.00	\$3.50	\$969.50	\$7.77	\$2,152.29
1-10.	Reinforcing Steel (including tie bars)	1500	LBS	\$3.50	\$5,250.00	\$3.15	\$4,725.00	\$2.05	\$3,075.00
1-11.	Type 2 Rock Blanket (24" deep)	71	CY	\$78.00	\$5,538.00	\$33.25	\$2,360.75	\$67.84	\$4,816.64
1-12.	Field Seeding/Fertilizing/Mulching	1	LS	\$850.00	\$850.00	\$1,050.00	\$1,050.00	\$1,739.53	\$1,739.53
1-13.	24" Polycoated CMPs 16 gauge	90	LF	\$62.00	\$5,580.00	\$77.00	\$6,930.00	\$39.70	\$3,573.00
1-14.	Temporary Bypass	1	LS	\$9,000.00	\$9,000.00	\$6,500.00	\$6,500.00	\$6,768.50	\$6,768.50
1-15.	Construction Staking	1	LS	\$1,500.00	\$1,500.00	\$1,550.00	\$1,550.00	\$1,739.53	\$1,739.53
1-16.	Rock Excavation	1	CY	\$300.00	\$300.00	\$220.00	\$220.00	\$579.84	\$579.84
1-17.	Geotex 315ST	277	SY	\$3.00	\$831.00	\$3.50	\$969.50	\$5.60	\$1,551.20
	BID TOTAL				\$73,169.00		\$64,794.75		\$75,302.62
	Bidder's Acknowledgment?				Included		Included		Included
	Statement of Bidder's Qualifications?				Included		Included		Included
	Addendum Acknowledgment?				Included		Included		Included
	Anti-Collusion Statement?				Included		Included		Included
	Signature & Identity of Bidder?				Included		Included		Included
	Bid Bond?				Included		Included		Included

BID TABULATION (continued) 63-27SEP07 MOREAU ROAD LOW WATER CROSSING PROJECT

				Boone Construction Co.			
ltem	Description	Qty	Unit	Unit Price	Extended Total		
1-1.	Mobilization	1	LS	\$5,400.00	\$5,400.00		
1-2.	Traffic Control	1	LS	\$1,450.00	\$1,450.00		
1-3.	Removals	1	LS	\$5,250.00	\$5,250.00		
1-4.	Excavation	77	CY	\$60.00	\$4,620.00		
1-5.	Embankment	30	CY	\$51.00	\$1,530.00		
1-6.	1.5" Minus Base Rock	100	TON	\$24.50	\$2,450.00		
1-7.	Class A Portland Cement Concrete	75	CY	\$395.00	\$29,625.00		
1-8.	Type 1 Rolled Stone Base Rock	45	TON	\$26.00	\$1,170.00		
1-9.	Tensar BX 1100 Geogrid	277	SY	\$4.35	\$1,204.95		
1-10.	Reinforcing Steel (including tie bars)	1500	LBS	\$1.70	\$2,550.00		
1-11.	Type 2 Rock Blanket (24" deep)	71	CY	\$35.00	\$2,485.00		
1-12.	Field Seeding/Fertilizing/Mulching	1	LS	\$1,025.00	\$1,025.00		
1-13.	24" Polycoated CMPs 16 gauge	90	LF	\$52.65	\$4,738.50		
1-14.	Temporary Bypass	1	LS	\$8,200.00	\$8,200.00		
1-15.	Construction Staking	1	LS	\$2,050.00	\$2,050.00		
1-16.	Rock Excavation	1	CY	\$308.00	\$308.00		
1-17.	Geotex 315ST	277	SY	\$2.45	\$678.65		
	BID TOTAL				\$74,735.10		
	Bidder's Acknowledgment?				Included		
	Statement of Bidder's Qualifications?				Included		
	Addendum Acknowledgment?				Included		
	Anti-Collusion Statement?				Included		
	Signature & Identity of Bidder?				Included		
	Bid Bond?				Included		